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If there are two children, one whose 12 falls out on naw, and
the other whose 12 falls out on Friday or Sunday, and the 5nwn
by mistake is 9n the child whose m1a is on Friday or Sunday,
the S is not 2»n a nxvnljanp as he falls under the category of
having mwA (since the na of the other child is navlhm).

If on noaldy there was meat from the noalianp, and meat that
was 1, and a person accidentally ate the anw (he was
intending to eat the noalianp), heisa»n anxon.

A person who is performing oya> and the nna isant isnot arn
annovn, asthe act (of nxa) was done with mwn. Similarly, one
who carried a 25> from one mwA to another, or four mnX in
oanBnwa on the first day of moo that fell out on naw is not
2N anxvniap.

A yn> who ate nmn and subsequently found out that heisaja
Y or nxwnlia, only needsto pay 7.

A 0> who performed the nay and subsequently found out that
heisabon, hisnmay isstill qwo.



